Problems from the book Probability and Statistics for Engineering and the Sciences Sixth Edition by Jay Devore 
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\/ 28. LetX,, X,, ..., X, represent a random sample from
the Rayleigh distribution with density function
given in Exercise 15. Determine
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The maximum likelihood estimator of 6 and
then calculate the estimate for the vibratory
stress data given in that exercise. Is this estima-
tor the same as the unbiased estimator suggested
in Exercise 15?

The mle of the median of the vibratory stress
distribution. (Hint: First express the median in
terms of 6.)




This is exercise 15 that problem 28 is referring to…
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a. It can be shown that E(X?) = 26. Use this fact to
construct an unbiased estimator of 6 based on
> X? (and use rules of expected value to show
that it is unbiased).

b. Estimate 0 from the following n = 10 observa-
tions on vibratory stress of a turbine blade under

specified conditions:
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